Aritmetik for exponenter (negativa exponenter)

(-9 = (-8) =
(9" + (4 =
1) = (8) =
52 4+2=
8+3=

(-3)P +6=
6D 5=

(-5 +1=

Datum: Poéng:

(2" —4=

9% +4 =
(-10)°D 1=
(1) +2=
(-7 = (-6) =
1002+ (-1) =
(=7 +(-8) =
8D — (=5) =
(D +(-6) =

92 +(-2) =

www.snowmath.com



https://www.snowmath.com

Aritmetik for exponenter (negativa exponenter)

. Datum: poine:
47 —(-1) = 1—; = 11—16 (-2)* —4=0
(—2)* — 10 = (—6) 9> +4 =85
9P - (-8) = 5 =8 (100 = 1= (~30) = (155
VA= ()= () 123
(1)~ (-8)=9 0= =6y
£ 2o 1072+ (1) = (7
8+3=11 (—7)* + (—8) = 41
(-3) P +6= % = 6% 8% —(-5) = 36271 = sé
60 =5= ()= (4p) (D +(-6)= (-5)
(=52 +1=26 9 +(-2) = (—161 )= (- 1
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